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CATEGORY 1 - ROUND1 - SOLUTIONS

Israel A. Schiffmann, 1% Prize The Chess Amateur 1928

1..Hed + 2.8xed# 1..55XC3 + 2.&xc3#

1.%g6! (5 points) [2.5f6#]

1..Hed + 2.50b4# 1..5%c3 + 2.5xc3#

1..Ded 2.Bgxe6# 1...f5 2.8g5# 1...Hg5 2.82xg5# 1...2xh6 2.8 g5#
1...exd5 2.%xd5# 1...£xb7,5c6 2.2 gxeb#

Alexandre Bakharev, 2nd Prize Jubilé A. Grin-75, 64 1983

1.50e5 1 [ 2.%g1+ (1 point) 2d2+/&xf4+3.e3/0d3#]
1..2d2+ 2.e3+ (1.5 points) @el,&d1/&xe3/ 3.&gl/Hga#
1. &xd4+ 2.55f3+ (1.5 points) @e3 , cd/Dxed 3.%d4/ Ee5#
1..&xf4+ 2.0d3+ (1 point) @e3 3. A f4#

Friedrich Chlubna, 3rd HM Schach-Echo 1977

1.8h7 ! [2.5xf5+ &xcd 3.£d6+ (1 point) Hxd6/Exd6 4. 4.d3#]
1..5¢1 2.5a3 [3.2e~ #] 2...4xa3 3.0f1+ (1 point) &cd 4.0d2#
1..Bxh7 2.50d6 [3.5e~ #] 2...5xd6 3..0xf5+ (1 point) &c4 4..xd6#
1..%xh7 2.5e5 [3.2e~ #] 2...fxe5 3.25g4+ (1 point) &cd 4.5xe5#
1...dxc4 2.408 [3.50e~ #] 2..B2f7 3..0xf5+ (0.5 point) &d5 4.He7#
2...%xg8 3.2g4+ (0.5 point) &d5 4.0xf6#

A. Herbtsman, 2™ Prize, Shakhmaty v SSSR 1956 (Mirror)

1..0b5 Heb (1 point) (1...c6 2.0bd6+) 2.L34xc7+ (1 point) LHxc7 3..0d6+ &d8 [3...2e7 4..0b5+
(4.55¢5 26 5.0xh6 Fg7 6.8e3 Hd5 7.495 2g6) 4...2d8 5.4b6] 4.4b6 Af15.4e3 (1 point)
(5.2el Aab 6.2e3 2e7) 5....008 (5...2e7 6..0¢8+ 2d8 7..0d6) 6.8.95+ Ne7 7.Fel (1 point)
A.ab68.4d2 (1 point) =

8....006 9.8 g5+ He7 10.4.d2

8..0e6 9. Qa5+ Nc7 10.4.d2

(4+6)

Walter Jorgensen, Thema Danicum 1986 (correction Paz Einat)
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(1...f4+ 2.c6 Heb 3.4b7 Ed6#)

1. ed4+ Hxel+ 2.Fe5 Hd6 3. Hxf5 Nd3#
1.3+ &g3 2.H\ed+ Hf4 3.xc5 HDba#
1.&d4 Ha2 2.Q.e4 Hab 3.&d5 Hd6#

1 solution = 1 point, 2 solutions = 3 points, 3 solutions = 5 points

H#3 3sol. (7+12)
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(12+7)

6 Vladimir Nabokov & Colin R. Flood, 3rd Prize The Problemist 1972-73
A i 1.¥h2 ! zugzwang. (1 point)
& A A&l 1.9xf6 2.b8=4.15 3.493 f4 4.4f2 f3 5.4d2 (2 points) fxe2#
X W 1...gxh6 2.%d2 h5 3.%c3 h4 4.%xb2 h3 5.2al (2 points) b2#
g
¥
i A
5@ LGy




